ASSEMBLY MANUAL

UNIVERSAL

NORTH

BASKETBALL

TRAMPOLINE & NET SIZES:  ALL SIZES

This assembly contains instructionsworks for all
North Trampolines in all sizes.

HOOP



UNIVERSAL NORTH

BASKETBALL
HOOP

CONTENTS

BOXCONTENT. ..o 1
ASSEMBLY INSTRUCTIONS. ... 2
GENERALWARRANTY. ..ot 11
ALLMANNA GARANTIVILLKOR. . ... 12
GENERELLE GARANTIVILKAR. ... 13
GENERELLE GARANTIBETINGELSER. ................ooiit 14
ALLGEMEINE GARANTIEBEDINGUNGEN. .................. 15

All rights reserved 2020. Avero AB ©

All artwork and illustrations are owned by Avero AB, Sweden. Copying or
reusing them is prohibited by law. For more information, contact us at
info@avero.se






Hardware List- Actual Size

@ M6x50 Bolt - QTY.2

@ M6x65 Bolt - QTY.1

NN

(@ M8x50Bolt-QTY.3

OO0 s
e

\~ AN AN J
(© M8 Washer-QTY.6 @ M8 Nut with Cap-QTY.3

@ M6 Nut with Cap - QTY.3

S S









O——9) 00

) @O










10

11

® 0O




12










GENERAL WARRANTY FOR
NORTH TRAMPOLINE




ALLMANNA GARANTIVILLKOR
NORTH TRAMPOLINE




GENERELLE GARANTIVILKAR
NORTH TRAMPOLINE




& GENERELLE GARANTIBETINGELSER

NORTH TRAMPOLINE




ALLGEMEINE GARANTIEBEDINGUNGEN
NORTH TRAMPOLINE













